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the average rate of change of the function that passes through the points (1, 1) and (-2, -8).

2) What is the equation of the line that passes through the point ( 2 1?} and has a‘slope of -4'9
Y= -

)y = 3}{ 4
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~(;.‘;y=4x-22 (4) y=-4x-4 the Yolo\e
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3) Peter walked 8,900 feet from home to school. How far, to the nearest tenth of a mile, did he walk?

1 mile = 5.280 teet
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Q‘/ ’4-) Which expression can be used to change 75 kilometers per hour to meters per minute?
1) 75km _1,000m  1hr 3) 7skm _lkm { hr
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M 4?3%3@ Equations of Linear Functions in Slope-Intercept Form

Write the linear equation in slope-intercept form % b (Show the Five Steps) -
d the equation of the line that passes throug Q

( _;)m 3 p se | 3 j? l ' e coordinates (2, 5) and (5, 17)-
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Lessons 6/7 Linear Word Problems  Show work Algebraically

9) Mr. Klein is on a diet. He currently weighs 230 pounds. He loses 4 ounds er month.
=230 -

A) Write a linear equation that represents Mr. Klein’s weight, w after n months.

Wz - 4N+ 230.
B) How much will Mr. Klein weigh after 3 months? E

Wz - "}(3> *230° (E-\E’ pov t\éA
'C) How many months will it take him to weigh 198 pounds?

cking account.

Each week, he wilhgiggiositjsa to
m= 3&

' TL#- number of weeks Tim has been saving, write a

to save? E :
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e N - X=
-~ 11) ldentify the equation for a horizonta . 12)) Identify the equation for a|verti
line passing through the point (-6 line passing through the point{7)9)

B (=10
Lesson 9 Absolute Value & Step Functions

13) Which equation represents the function shown in the accompanying graph?
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(1) fi) = Il -1 @ fo=lx-y  each TEE
A\ G o\o-l
(2) fx) = |x| +1 (@A) =x-1] S
14) Using the absolute value function to the right: L4

I
a) Describe the translation of the graph. R ‘3 ht 5 ) b oW 2
b) What is the_absoluteEinimum atthis function? (..5 RS 2-)

c) State the coordinates of the f-the function. % = 2 3 Xo Lo
>
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[-2,00) or u2-2
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y =2X+ 13. Justify your answer.
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17) Which of the following points lie in the solution set of the inequality y 2 —-—x 3 ?

‘9(1 0.5 v 3) (3,6 ‘/
il |

5> —2(0) -3 (-L)=3 45)-3 3I_D) 3
(*5}—%‘ 422-3 > -1-3 Q_-}_:__(?__-j
yE ! (U:’D'+ TRUE 0z-2)Trut!

FALSE (42-) 1
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18) Does the coordinate pair (5, -4) lie in the solution set of the system of equations below? Justify your

answer. g as 5-'c2/.- Lstf BO.“q f%u(,’y‘/‘)bhs ?
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Lesson 11 Graphing Inequalities :
19) Write the inequality to that represents each graph shown below.
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pe-intercept form. Identify the slope and the y-intercept
lane. Identify one point in the solution and one point
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